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7.  Olivia had $33.40 less than Kelvin. After Olivia received $12.70 
from her father and Kelvin gave $8.60 to his brother, how much 
less money did Olivia have than Kelvin?

8.  Three erasers and 2 pens cost $3.85. Three pens and 2 erasers 
cost $4.40. What is the cost of 1 eraser?

9.  The total cost of 5 watches and 4 bags is $169.10. The total 
cost of 9 watches and 8 bags is $314.30. What is the difference 
between the cost of a watch and a bag?
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10.  Alvin sold 17 ribbons altogether. Each blue ribbon was 1.7 m 
long. Each green ribbon was 2.3 m long. The total length of the 
ribbons that he sold was 31.9 m. How many blue ribbons and 
green ribbons did he sell?

11.  George has a total of 15 nickels and dimes in his wallet. The 
coins have a total value of $1.05. How many nickels and dimes 
are there?

12.  Each bag of red beans weighs 1.5 kg and each bag of green 
beans weighs 1.8 kg. Mr. Montrel sold 10 bags of beans. The 
total weight of the bags that he sold was 16.2 kg. How many 
bags of red beans and green beans did he sell?
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